Supplement to: Protein Stability in Titan's Subsurface Water Ocean

Kyle P. Martin, Shannon M. MacKenzie, Jason W. Barnes, F. Marty Ytreberg

Sections 1-4 are mdp files used in Gromacs 5.1.2. Section 5 includes figures taken
from simulation results for 1 bar and aqueous ammonia (a low pressure Titan-like
environment), and 1 kbar in water (i.e., a high pressure Earth-like environment).
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3. Md.mdp for Earth
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4. Prod.mdp for Earth
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5. Simulations to examine effects of pressure and ammonia
The following results are for simulations of proteins in a low pressure Titan
environment (1 bar, aqueous ammonia) and in a high pressure Earth environment

(1000 bar, water).
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Mainly Beta (4unu)
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Mixed Alpha/Beta (4glq)
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Mixed Alpha/Beta (2gxq)
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Mainly Beta (3ulj)
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Mainly Beta (4unu)
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Mixed Alpha/Beta (4gl1q)
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Mixed Alpha/Beta (2gxq)
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RAMACHANDRAN PLOTS
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Mainly Beta
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Mixed Alpha/Beta
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